
Texo
Anjali M.

errata

Page 4 / column 1

Increase for basketweave panel
Next row inc row: (RS) K3, sl m, m1-L/loop, (k3, 
m1-L/loop) 14 times, k4, m1-L/loop, sl m, k1, sl m, 
m1-L/loop, k4, (m1-L/loop, k3) 14 times, m1-L/loop, 
sl m, k3 (32 sts inc’d)—131 sts. 
Work 1 WS row.
Change to larger circ.

Rep basketweave panel—163 sts.
Next row inc/dec row: (RS) K3, sl m, m1-L/loop, (k3, 
k2tog) 14 times, k8, m1-L/loop, sl m, k1, sl m, k8, 
(k2tog, k3) 14 times, m1-L/loop, sl m, k3 (4 sts inc'd and 
28 sts dec’d)—139 sts.


